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Modèles de Markov cachés

Une	chaîne	de	Markov	qui	émet	des	observaMons	à	chaque	pas	
de	temps,	dépendant	uniquement	de	l’état	à	ce	pas	de	temps.	
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Exemple d’applica@ons

LocalisaMon	d’un	robot	

Xt	=	posiMon	exacte	du	robot	
Yt	=	informaMon	parMelle	sur	la	posiMon		 	

	(p.ex.,	obtenue	de	capteurs)	
	

AnnotaMon	de	génome	
Xt	=	label	associé	à	la	posiMon	t	
Yt	=	nucléoMde	à	la	posiMon	t	
	

Reconnaissance	vocale	
Xt	=	phonème	(=son)	
Yt	=	signal	acousMque	
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U@lisa@ons

PrédicMons	des	états	cachés	à	parMr	des	observaMons	

	
	
Quelle	est	la	posi.on	actuelle	la	plus	probable	du	robot	étant	donné	les	
observa.ons	déjà	collectées	?	

	
	
Quelle	est	l’annota.on	la	plus	probable	du	génome	étant	donnés	la	
séquence	de	nucléo.des	?	
	

Vraisemblance	des	observaMons	étant	donné	un	modèle	
	
	
Est-ce	que	le	mot	prononcé	est	“speech”	?	
	

ApprenMssage	des	paramètres	à	parMr	de	données	
	

	
A	par.r	d’instances	du	mot	“speech”,	déterminer	les	paramètres	du	
modèle	maximisant	la	vraisemblance	de	ces	données.	
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Example: Robot Localiza@on


1 0 Prob 

Example from 
Michael Pfeiffer 



Example: Robot Localiza@on
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Example: Robot Localiza@on
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Example: Robot Localiza@on
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U@lisa@ons

PrédicMons	des	états	cachés	à	parMr	des	observaMons	

	
	
Algorithme	Forward	 		
	
	
Algorithme	de	Viterbi	 		
	

Vraisemblance	des	observaMons	étant	donné	un	modèle	
	

	
Algorithme	Forward 		
	

ApprenMssage	des	paramètres	à	parMr	de	données	
	

	
Algorithme	Baum-Welch	ou	Algorithme	de	Viterbi								
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Algorithme de Viterbi

Permet	de	calculer	efficacement	la	séquence	cachée	la	plus	
probable	étant	donné	les	observaMons	
	
	
	
Calculons	d’abord	la	probabilité	maximale:	
	
	
	
	
(avec		 	 					l’ensemble	des	états	cachés)	
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Algorithme de Viterbi


Les										peuvent	se	calculer	récursivement	(en	se	basant	sur	la	
factorisaMon	de	la	distribuMon	conjointe)	

	
	

	

	
	

	
Pour	récupérer	la	soluMon:	
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17.4. Inference in HMMs 615

(a) (b)

Figure 17.13 Illustration of Viterbi decoding in a simple HMM for speech recognition. (a) A 3-state HMM
for a single phone. We are visualizing the state transition diagram. We assume the observations have been
vector quantized into 7 possible symbols, C1, . . . , C7. Each state z1, z2, z3 has a different distribution over
these symbols. Based on Figure 15.20 of (Russell and Norvig 2002). (b) Illustration of the Viterbi algorithm
applied to this model, with data sequence C1, C3, C4, C6. The columns represent time, and the rows
represent states. An arrow from state i at t − 1 to state j at t is annotated with two numbers: the first
is the probability of the i → j transition, and the second is the probability of generating observation xt

from state j. The bold lines/ circles represent the most probable sequence of states. Based on Figure 24.27
of (Russell and Norvig 1995).

we can also easily work in the log domain. The key difference is that logmax = max log,
whereas log

∑
̸=
∑

log. Hence we can use

log δt(j) ! max
z1:t−1

log p(z1:t−1, zt = j|x1:t) (17.79)

= max
i

log δt−1(i) + logψ(i, j) + log φt(j) (17.80)

In the case of Gaussian observation models, this can result in a significant (constant factor)
speedup, since computing log p(xt|zt) can be much faster than computing p(xt|zt) for a high-
dimensional Gaussian. This is one reason why the Viterbi algorithm is widely used in the E step
of EM (Section 17.5.2) when training large speech recognition systems based on HMMs.

17.4.4.3 Example

Figure 17.13 gives a worked example of the Viterbi algorithm, based on (Russell et al. 1995).
Suppose we observe the discrete sequence of observations x1:4 = (C1, C3, C4, C6), representing
codebook entries in a vector-quantized version of a speech signal. The model starts in state
z1. The probability of generating C1 in z1 is 0.5, so we have δ1(1) = 0.5, and δ1(i) = 0 for
all other states. Next we can self-transition to z1 with probability 0.3, or transition to z2 with
proabability 0.7. If we end up in z1, the probability of generating C3 is 0.3; if we end up in z2,

Algorithme de Viterbi: exemple


Séquence	observée:	C1	C3	C4	C6	

(Murphy,	2012)	

P (X1 = S1) = 1
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Le projet

ObjecMf	général:		

MeBre	au	point	un	système	de	reconnaissance	vocale	de	
chiffres,	prononcés	d’abord	isolément	puis	en	séquence.	

	
Idée	générale	de	la	soluMon	à	meBre	en	place:	
•   Collecter	des	données	(fichiers	wav)	
•   Les	meBre	dans	une	forme	acceptable	pour	leur	
modélisaMon	à	l’aide	de	modèles	de	Markov	cachés	
•   Choisir	la	structure	des	modèles	et	apprendre	leurs	
paramètres	à	parMr	des	données	
•   Tester	les	performances	du	système.	Si	nécessaire	itérer.	
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MFCC feature extrac@on


hBp://recognize-speech.com/feature-extracMon/mfcc	
Speech Technology - Kishore Prahallad (skishore@cs.cmu.edu)
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Speech signal represented as a sequence of CEPSTRAL vectors

FFT

Spectrum

FFT FFT FFT FFT FFT FFT FFT FFT FFT FFT FFT FFT FFT

Cepstral 
Vectors



MFCC feature extrac@on


hBp://recognize-speech.com/feature-extracMon/mfcc	
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